o
[N

< dcotl>)

=
o
iN

2 3
TPlpoT (PCA t%obeamliné[f)

= 100

=)
e
A 0.15
S
© 04
\
0.05
0
-0.05
-0.1
-0.15
2702
< 1
24
0.5
0 1 2 3
10™ 1 1 -1
0 TP ;9T (PCA t%obeamllnef)
—=— DQM_V0001_R000000001__Global_mkFitOLD__RECO
—e— DQM_V0001_R000000001__Global__mkFit100__RECO
—— DQM_V0001_R000000001__Global__mkFit100tobtec_ RECO
= 100
g C 4
= 80_— --------------------------------------------
N L
. o
F 60:— --------------------------------------------
o I
v ADE - eefefeB

<op/p. > (70)

0.5F A -4
107 1
5: N
I IR e 1| R
R e I 1| R
| R ISR T I 1| R
| SPRPRP P N 1 RS
[o] TP e T R B PR

1071 1

: 2 3
TPlpg)T (PCA t%)obeamlin%)o




	Contents
	Page 1


